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elérhetd Osszpontszam
0sszpontszam
F933-5841 6 6a angol 9 10 30 19 63%
$228-V762 6 6a angol 8 5 30 13 43%
F354-V685 6 6a angol 5 11 30 16 53%
$828-M614 6 6a angol 11 13 30 24 80%
S$716-N921 6 6a angol 8 13 30 21 70%
C516-E426 6 6a angol 5 11 30 16 53%
S584-N489 6 6a angol 7 5 30 12 40%
P797-K254 6 6a angol 5 7 30 12 40%
T582-N491 6 6a angol 4 7 30 11 36%
M971-N585 6 6a angol 5 8 30 13 43%
F593-X381 6 6a angol 12 11 30 23 76%
X989-K277 6 6a angol 3 11 30 14 46%
H135-R792 6 6a angol 9 13 30 22 73%
A279-T812 6 6a angol 11 13 30 24 80%
D272-5477 6 6a angol 4 4 30 8 26%
R569-C395 6 6a angol 7 5 30 12 40%
V531-K160 6 6a angol 5 9 30 14 46%
E369-N994 6 6a angol 14 15 30 29 96%
U558-R966 6 6a angol 8 11 30 19 63%
J118-J310 6 6a angol 5 11 30 16 53%
X366-B421 6 6a angol 8 9 30 17 56%
H252-5757 6 6a angol 5 6 30 11 36%
L668-0982 6 6b angol 7 11 30 18 60%
€945-Q343 6 6b angol 13 10 30 23 76%




W742-0868 6 6b angol 11 12 30 23 76%
G943-N658 6 6b angol 5 8 30 13 43%
G827-R856 6 6b angol 9 13 30 22 73%
C667-1845 6 6b angol 10 14 30 24 80%
D234-P922 6 6b angol 9 13 30 22 73%
M597-E651 6 6b angol 6 12 30 18 60%
W513-0693 6 6b angol 5 5 30 10 33%
A451-0416 6 6b angol 11 11 30 22 73%
L849-H111 6 6b angol 10 13 30 23 76%
E555-G864 6 6b angol 12 12 30 24 80%
Q288-W910 6 6b angol 12 11 30 23 76%
0482-0417 6 6b angol 11 12 30 23 76%
X695-W146 6 6b angol 12 14 30 26 86%
S$449-M374 6 6b angol 9 14 30 23 76%
0577-C985 6 6b angol 13 14 30 27 90%
R225-T663 6 6b angol 12 14 30 26 86%
G326-M643 6 6b angol 13 14 30 27 90%
F692-P897 6 6b angol 5 9 30 14 46%
U966-R224 6 6b angol 8 8 30 16 53%
J238-T385 6 6b angol 11 12 30 23 76%
T125-W355 6 6b angol 7 11 30 18 60%
D491-F760 6 6b angol 9 10 30 19 63%




